
05.04 Картер аккумулятора 
 

 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 2972401094 Корпус аккумулятора  
002 2972450654 Крышка торцовая  
003 2967180284 Крышка верхная  
006 2731117610 Ввод 27 x 4 CSN 63 3881.1 
007 3091147490 Болт M16 x 35 ISO 4017 - 8.8 MKS 720 
008 3111108880 Шайба пружинная 16 CSN 02 1741.05 MKS 720 
009 3111100720 Гайка M16 ISO 4032 - 5 MKS 720 
018 3111106680 Шайба 9 CSN 02 1727.1 MKS 720 
019 3111104750 Гайка - барашек M 8 CSN 02 1665.0 MKS 720 
021 3111108850 Шайба пружинная 10 CSN 02 1741.0 MKS 720 
022 3111100640 Гайка M10 ISO 4032 - 5 MKS 720 
023 3111100610 Гайка M8 ISO 4032 - 5 MKS 720 
025 3111105360 Шайба 8,4 CSN 02 1702.1 MKS 720 
026 2075721214 Планка  
027 2075721224 Планка  
028 2072952334 Держатель  
029 2072952304 Держатель правый  
030 2072952314 Держатель левый  
031 3091147130 Болт M8 x 16 ISO 4017 - 8.8 MKS 720 
032 3111108840 Шайба пружинная 8 CSN 02 1741.05 MKS 720 

 
 


